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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. All question are compulsory and carry equal marks. Each question has an internal
choice.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) Explain clubbing provisions related to income of minor child? (10)

(b) Explain the provisions related to ‘Perquisite in respect of medical facility’
under the head 'Salary’. (5)
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A owns a property at Ghaziabad (Municipal value : Rs. 1,90,000, Fair rent

: Rs. 2,04,000. Standard rent : Rs. 1,85,000). The house is let out upto
Feb, 29,2016 at a monthly rent 6f Rs. 18,500. From March 1, 2016, the
property is self-occupied for own residence.

Expenses incurred by A are as foHows:

Municipal Taxes :Rs. 10,000 (half of it was paid by tenant), Repairs : Rs.
40,000 and Fire Insurance premium : Rs. 8,000, Interest on capital borrowed
for acquiring the property : Rs. 1;80,000.

Assuming that income of A from other sources is Rs. 4,50,000. find out the
net income of A for the assessment year 2016-17. (10)

Explain the treatment of following allowances-

(1) Transport allowance

(i) Education Allowance ()
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Explain the conditions applicable for a partnership firm to claim deduction in
respect of the following payment to partners:

(a) Remuneration;

(b) Interest on capital (15)
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The following is the profit and loss account of M/S ABC & Co., partnership
firm assessed as such (PFAS) for the year ended 31.03.2016.

Rs. Rs.
Cost of goods sold 6,71,500 |Sales 19,20,500
Interest on capital to Long term capital gains (computed) | 55,000
partners@ 20%
A 43,000
B 70,000
C 4,000
Remuneration to partners: Other Business receipts 1,00,000
A 1,02,000
B 60,000
C 72,000
Salary to staff 6,02,500 |Net loss 9,750
Income tax 55,000
Depreciation 1,35,250
Other expenses 2,70,000
20,85,250 20,85,250

Other relevant information

(a) Salary and interest are paid to partners as per partnership deed.

{b) Depreciation admissible under section 32 is Rs. 1,20,000.

(c) Income and investment of A, B and C for the previous year 2015-16 are :

PTO.
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A (Rs.) B (Rs.) C (Rs.)
Interest on bank deposit (gross) 2,00,000 2,10,000 2,20,000
Dividend from Indian companies 30,000 25,000 50,000
Contribution to PPF 60,000 40,000 65,000

Find out the net income and tax liability of the firm and partners or the assessment
year 2016-17. (15)
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3. Explain the following deductions covered under section 80: (7.5%2)
(a) Deduction under section 80E related to repayment of education loan.

(b) Deduction under section 80DD related to medical treatment expenses for
disabled relative.
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Explain the following deductions covered under section 80:
(a) Deduction under section 80GG related to payment of rent.
{b) Deduction under section 80CCD related to NPS. (7.5%2)
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(a) Explain the treatment of following incomes: (7.5)
(i) Winnings from lottery.
(i) Dividend income from an Indian company and from foreign company.

(b) What are the provisions of carry forward and set-off of ‘business losses’.
(7.5)
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(a) When an individual is assessable in respect of income from assets transferred
to a person for the benefit of son’s wife? (7.5)

(b) Explain the provision relating to set-off and carry forward for losses under

the head ‘Income from other sources’. (7.5)
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(a) How capital gain is computed under section 50 in case of depreciable assets?
(7.5)

(b) How indexed cost of acquisition is computed in case capital assets have
been acquired by the assessee (a) before April 1, 1981 and (b) or after
April 1, 1981. (7.5)
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Mr. X purchased a residential house on 01-07-1966 for Rs. 80,000. The

following expenses were incurred by Mr. X for the renewal of house:

Addition of two rooms during 1974-75 - Rs. 10,000
Addition of first floor during 1984-85 Rs. 20,000
Fair market value of house on 01-04-1981 was Rs. 1,25,000

Mr. X sells the house to Rahul for Rs. 50,00,000 on 15-01-2016. Mr. X
had to pay brokerage @2% for arranging this deal.

Compute the amount of capital gain chargeable to tax in the hands of
Mr. X for the assessment year 2016-17.

Can Mr. X claim any exemption on the amount of capital gain earned from

selling this residential house? If yes, explain.

The Cost Inflation Index for different years is as follows:

1981-82 : 100
1984-85 3 125
2015-16 3 1081. (15)
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1981-82 : 100
1984 -85 ! 125
2015 -16 : 1081
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